
Multiply by 10⁻² (D)Find each product.
5.8 × 10⁻² = 5.0255 × 10⁻² =
5.27 × 10⁻² = 9.1373 × 10⁻² =
8.87 × 10⁻² = 8.529 × 10⁻² =
7.7858 × 10⁻² = 3.16 × 10⁻² =
7.4394 × 10⁻² = 1.4318 × 10⁻² =
4.42 × 10⁻² = 8.244 × 10⁻² =
2.7 × 10⁻² = 9.4034 × 10⁻² =
9.67 × 10⁻² = 6.326 × 10⁻² =
6.1688 × 10⁻² = 6.6894 × 10⁻² =
0.63 × 10⁻² = 6.0867 × 10⁻² =
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Multiply by 10⁻² (D) AnswersFind each product.
5.8 × 10⁻² = 0.058 5.0255 × 10⁻² = 0.050255
5.27 × 10⁻² = 0.0527 9.1373 × 10⁻² = 0.091373
8.87 × 10⁻² = 0.0887 8.529 × 10⁻² = 0.08529
7.7858 × 10⁻² = 0.077858 3.16 × 10⁻² = 0.0316
7.4394 × 10⁻² = 0.074394 1.4318 × 10⁻² = 0.014318
4.42 × 10⁻² = 0.0442 8.244 × 10⁻² = 0.08244
2.7 × 10⁻² = 0.027 9.4034 × 10⁻² = 0.094034
9.67 × 10⁻² = 0.0967 6.326 × 10⁻² = 0.06326
6.1688 × 10⁻² = 0.061688 6.6894 × 10⁻² = 0.066894
0.63 × 10⁻² = 0.0063 6.0867 × 10⁻² = 0.060867
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